
 

АНГЛИЙСКИЙ ЯЗЫК/ 10-11 КЛАССЫ 

КЛЮЧИ 

 
 
ВАРИАНТ 1  
 
TASK 1  
 
No  1) YES/NO  2) A/C/N  
1  YES  A  
2  YES  C  
3  NO  N  
4  NO  N  
5  YES  C  
 

TASK 2  
 
1  has	
  provided	
   
2  to	
  work	
   
3  concerns	
   
4  bring	
   
5  a	
   
6  are	
  expected	
   
7  on	
   
8  However	
   
9  not	
  only	
   
10  to	
  be	
  discussed	
   
11  via	
   
12  on	
   
13  by	
   
14  varies	
   
15  both	
  ...... and	
   
16  translated	
   
17  ------  
18  every	
   
19  enables	
   
20  has	
  been	
  kept	
   
  
 

TASK 3  
 
1.  D	
   
2.  H	
   
3.  C	
   
4.  A	
   
5.  E	
   
6.  J	
   
7.  F	
   
8.  I	
  	
  
9.  G	
  	
  
10.  B	
  	
  
 

TASK 4  
 
1	
   in	
   C	
   
2	
   voiced	
   H	
   
3	
   appeared	
   A	
   
4	
   character	
   E	
   



5	
   the	
   F	
   
6	
   that	
   B	
   
7	
   first	
   D	
   
8	
   on	
   C	
   
9	
   white	
   E	
   
10	
   Donald’s	
   G	
   
 

 

ВАРИАНТ 2  

TASK 1  
 
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   YES	
   A	
   
2	
   NO	
   N	
   
3	
   YES	
   A	
   
4	
   YES	
   C	
   
5	
   NO	
   N	
   

 
TASK 2  
 
1  by	
   
2  year`s	
   
3  hundreds	
   
4  on	
   
5  taken	
   
6  being	
   
7  objective	
   
8  ordinary	
   
9  saw	
   
10  have	
  been	
  working	
   
11  response	
   
12  which	
   
13  as	
  well	
  as	
   
14  were	
  led	
   
15  includes	
   
16  The	
   
17  on	
   
18  has	
  been	
  getting	
  involved	
   
19  outcomes	
   
20  available	
   
  
 
TASK 3  
 
1.  F	
   
2.  B	
   
3.  E	
   
4.  C	
   
5.  J	
   
6.  H	
   
7.  A	
   
8.  D	
  	
  
9.  G	
  	
  
10.  I	
  	
  
 

TASK 4  
1	
   a	
   F	
   
2	
   original	
   E	
   
3	
   is	
   C	
   



4	
   little	
   H	
   
5	
   definitive	
   D	
   
6	
   albeit	
   E	
   
7	
   had	
   A	
   
8	
   and	
   B	
   
9	
   in	
   C	
   
10	
   unusually	
   G	
   
 

 

ВАРИАНТ 3 

TASK 1  
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   NO	
   N	
   
2	
   YES	
   A	
   
3	
   YES	
   A	
   
4	
   YES	
   A	
   
5	
   YES	
   C	
   
 
TASK 2  
1  launched	
   
2  But	
  despite	
   
3  insufficient	
   
4  from	
   
5  had	
  no	
   
6  as	
   
7  could	
   
8  All	
   
9  should	
   
10  It’s	
   
11  being	
  thrown	
   
12  little	
   
13  on	
   
14  worsened	
   
15  had	
  been	
   
16  urgent	
   
17  go	
   
18  available	
   
19  would	
  tell	
   
20  arise	
   
  
 
TASK 3  
1.  I	
   
2.  B	
   
3.  F	
   
4.  D	
   
5.  H	
   
6.  C	
   
7.  A	
   
8.  J	
  	
  
9.  G	
  	
  
10.  E	
  	
  
 
 
 
 
 
TASK 4  
1	
   these	
   D	
   
2	
   and	
   B	
   
3	
   possible	
   G	
   



4	
   famous	
   E	
   
5	
   production	
   H	
   
6	
   of	
   C	
   
7	
   their	
   D	
   
8	
   have	
  loved	
   A	
   
9	
   a	
   F	
   
10	
   the	
   F	
   
 

 

ВАРИАНТ 4 

TASK 1  
 
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   YES	
   A	
   
2	
   YES	
   A	
   
3	
   YES	
   C	
   
4	
   YES	
   A	
   
5	
   NO	
   N	
   
 
 
TASK 2  
1  --------  
2  was	
   
3  cross	
   
4  told	
   
5  was	
   
6  in	
   
7  made	
   
8  had	
  to	
   
9  other	
   
10  readjustment	
   
11  everyone	
   
12  easier	
   
13  specific	
   
14  were	
   
15  might	
   
16  the	
   
17  experienced	
   
18  is	
  trying	
   
19  such	
  as	
   
20  which	
   
  
 
TASK 3  
1.  J	
   
2.  C	
   
3.  E	
   
4.  B	
   
5.  D	
   
6.  F	
  	
  
7.  H	
  	
  
8.  A	
  	
  
9.  I	
  	
  
10.  G	
  	
  
 

TASK 4  
1	
   the	
   F	
   
2	
   famous	
   E	
   
3	
   in	
   C	
   



4	
   named	
   A	
   
5	
   later	
   G	
   
6	
   around	
   C	
   
7	
   but	
   B	
   
8	
   Groening’s	
   H	
   
9	
   who	
   D	
   
10	
   initials	
   E	
   
 

 

ВАРИАНТ 5 

TASK 1  
 
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   YES	
   A	
   
2	
   YES	
   A	
   
3	
   YES	
   C	
   
4	
   NO	
   N	
   
5	
   NO	
   N	
   
 
TASK 2  
1  overwhelmingly	
   
2  on	
   
3  survey's	
   
4  worried	
   
5  opposed	
   
6  any	
   
7  manageable	
   
8  being	
  able	
   
9  outweigh	
   
10  almost	
   
11  for	
   
12  might	
  be	
  experiencing	
   
13  aversion	
   
14  likely	
   
15  setbacks	
   
16  to	
  make	
   
17  doing	
   
18  behind	
   
19  a	
   
20  self-­employed	
   
  
 
TASK 3  
1.  C	
   
2.  A	
   
3.  I	
   
4.  E	
   
5.  G	
  	
  
6.  B	
  	
  
7.  H	
  	
  
8.  D	
  	
  
9.  J	
  	
  
10.  F	
  	
  
 

TASK 4  
1	
   the	
   F	
   
2	
   the	
   F	
   
3	
   Groening’s	
   G	
   
4	
   who	
   D	
   



5	
   initials	
   E	
   
6	
   is	
   A	
   
7	
   and	
   B	
   
8	
   chalkboard	
   E	
   
9	
   but	
   B	
   
10	
   him	
   D	
   
 

 

ВАРИАНТ 6 

TASK 1  
	
  
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   YES	
   A	
   
2	
   YES	
   C	
   
3	
   YES	
   A	
   
4	
   NO	
   N	
   
5	
   NO	
   N	
   

	
  
TASK 2  
 
1  warm	
   
2  rolled	
  out	
   
3  glimpse	
   
4  have	
  spent	
   
5  taking	
   
6  immersion	
   
7  has	
   
8  has	
   
9  such	
  a	
   
10  sustainable	
   
11  To	
  me	
   
12  helped	
   
13  opener	
   
14  was	
  taken	
   
15  get	
  over	
   
16  Despite	
   
17  incoming	
   
18  we'll	
  be	
  staying	
   
19  an	
   
20  out	
  of	
   
  
 

TASK 3  
1.  E	
   
2.  B	
  	
  
3.  C	
  	
  
4.  H	
  	
  
5.  A	
  	
  
6.  F	
  	
  
7.  J	
  	
  
8.  I	
  	
  
9.  D	
  	
  
10.  G	
  	
  
 

TASK 4  
1	
   many	
   A	
   
2	
   successfully	
   E	
   



3	
   about	
   C	
   
4	
   ruin	
   E	
   
5	
   in	
   C	
   
6	
   his	
   D	
   
7	
   a	
   F	
   
8	
   in	
   C	
   
9	
   His	
   G	
   
10	
   and	
   B	
   
 

 

ВАРИАНТ 7 

TASK 1  
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   NO	
   N	
   
2	
   YES	
   A	
   
3	
   YES	
   A	
   
4	
   YES	
   C	
   
5	
   YES	
   C	
   
 

TASK 2  
1  colorful	
   
2  signed	
  up	
   
3  transformed	
   
4  rigid	
   
5  the	
   
6  on	
   
7  zooming	
  in	
   
8  would	
  have	
  made	
   
9  added	
   
10  hardly	
   
11  take	
   
12  unheard	
  of	
   
13  played	
   
14  competitive	
   
15  poor	
   
16  to	
  get	
   
17  as	
  well	
  as	
   
18  In	
  fact	
   
19  throw	
   
20  sweetener	
   
  
 

TASK 3  
1.  C	
   
2.  E	
  	
  
3.  J	
  	
  
4.  A	
  	
  
5.  H	
  	
  
6.  D	
  	
  
7.  F	
  	
  
8.  B	
  	
  
9.  G	
  	
  
10.  I	
  	
  
 

TASK 4  
1	
   a	
   F	
   



2	
   rectangular	
   G	
   
3	
   earlier	
   A	
   
4	
   gets	
   B	
   
5	
   recent	
   C	
   
6	
   with	
   D	
   
7	
   cheek	
   E	
   
8	
   leather	
   G	
   
9	
   a	
   F	
   
10	
   hat	
   E	
   
 

 

ВАРИАНТ 8 

TASK 1  
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   YES	
   C	
   
2	
   YES	
   C	
   
3	
   YES	
   A	
   
4	
   YES	
   A	
   
5	
   NO	
   N	
   
 

TASK 2  
1  the	
  newest	
   
2  Instead	
   
3  founded	
   
4  other	
   
5  educated	
   
6  environmentally	
   
7  On	
  top	
  of	
   
8  in	
   
9  was	
  chosen	
   
10  carry	
   
11  couldn’t	
  help	
  but	
   
12  keeping	
   
13  selfless	
   
14  for	
   
15  is	
  she	
   
16  down	
   
17  had	
   
18  thought	
   
19  affected	
   
20  would	
  be	
   
  
 

TASK 3  
1.  C	
   
2.  A	
  	
  
3.  J	
  	
  
4.  E	
  	
  
5.  B	
  	
  
6.  G	
  	
  
7.  D	
  	
  
8.  I	
  	
  
9.  H	
  	
  
10.  F	
  	
  
 

 



 

TASK 4  
1	
   and	
   B	
   
2	
   premiered	
   E	
   
3	
   the	
   F	
   
4	
   modernized	
   E	
   
5	
   modern	
   E	
   
6	
   its’	
   A	
   
7	
   at	
   C	
   
8	
   he	
   D	
   
9	
   Fred	
   B	
   
10	
   his	
   E	
   
 

ВАРИАНТ 9 

TASK 1  
No	
   1)	
  YES/NO	
   2)	
  A/C/N	
   
1	
   NO	
   N	
   
2	
   YES	
   C	
   
3	
   YES	
   A	
   
4	
   NO	
   N	
   
5	
   YES	
   A	
   
 
TASK 2  
1  insufficient	
   
2  has	
  shown	
   
3  specific	
   
4  school-­aged	
   
5  in	
   
6  increased	
   
7  for	
   
8  likely	
   
9  has	
  also	
  been	
  found	
   
10  response	
   
11  adulthood	
   
12  was	
   
13  questionnaires	
   
14  were	
  collected	
   
15  subsequent	
   
16  gotten	
  drunk	
   
17  such	
  as	
   
18  others	
   
19  will	
  address	
   
20  affect	
   
  
 

TASK 3  
1.  B	
   
2.  F	
   
3.  J	
   
4.  C	
   
5.  A	
   
6.  D	
   
7.  H	
   
8.  E	
  	
  
9.  I	
  	
  
10.  G	
  	
  
 



 

TASK 4  
1	
   on	
   C	
   
2	
   through	
   E	
   
3	
   who	
   D	
   
4	
   and	
   B	
   
5	
   symptoms	
   E	
   
6	
   the	
   F	
   
7	
   of	
   C	
   
8	
   then	
   E	
   
9	
   moved	
   A	
   
10	
   the	
   F	
   
 


